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1T - 8T - TRIHBRHE <EE>
DHETKEEETEGHREIXZMNI) No. 1
I # Z] B4 =2 b}
ERIEE (EEHY)
+ AB m®
(&
B BH0.08m3 m® 20|23.31+0.00+0.00+0.00+0.00= 23.31
## BHO.13m3 m®
## BHO0.28m3 m®
B BH0.45m3 m®
TR (EEAL)
Ah m®
## BH0.08m3 m®
## BHO.13m3 m®
B BH0.28m3 m® 100|95.04+0.00+0.00+0.00+0.00= 95.04
B BH0.45m3 m®
R#L
m? 94|94.32+0.00+0.00+0.00+0.00= 94.32
HHRER(HREDL)
Ah m®
## BH0.08m3 m®
## BHO.13m3 m®
## BHO0.28m3 m®
B BH0.45m3 m®
ERER(WBRL)
Ah m®
14.30+0.00+0.00+0.00+0.00+
B BH0.08m3 m® 10{0.00+0.00+0.00+0.00+0.00= 14.30
## BHO.13m3 m®
54.98+0.00+0.00+0.00+0.00+
B BH0.28m3 m® 50|0.00+0.00+0.00+0.00+0.00= 54.98
B BH0.45m3 m®
ERER(M@PHBRL)
m3
B BH0.08m3 m® 5(4.80+0.00+0.00+0.00+0.00= 4.80
## BHO.13m3 m®
B BH0.28m3 m® 30|28.57+0.00+0.00+0.00+0.00= 28.57
&t m® 30/4.80+0.00+28.57= 33.37
Biuos
Ah m®
B BH0.08m3 m® 20|23.31+0.00+0.00+0.00+0.00= 23.31
## BHO.13m3 m®
B BH0.28m3 m® 100|95.04+0.00+0.00+0.00+0.00= 95.04
&it m® 120|23.31+0.00+95.04= 118.35
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<EE>

DHETKEEETEGHREIXZMNI) No. 2
I & £l B B = i
HEEI BRBREER m 152152.36+0.00+0.00+0.00+0.00= 152.36
(X &)
BT m 149|149.26+0.00+0.00+0.00+0.00= 149.26
VU ¢ 200mm
BIREER m 152152.36+0.00+0.00+0.00+0.00= 152.36
HREE m 150)149.67+0.00+0.00+0.00+0.00= 149.67
RiLHFrvF VUG 200 B 22.00+0.00+0.00+0.00+0.00= 2.00




1T - BET - TEINEEHE <EE>
NHETRKEEETEGHRERBEIRZMNI) No. 3
I & #H B B G b= &
E
= - i o HEIE 2.0mLUTF AR m
16.16+0.00+0.00+0.00+0.00+
HREIE 2.0mLLF BH0.08m3 m 16/0.00+0.00+0.00+0.00+0.00+0.00= 16.16
HREIZE 2.0mE T BHO0.13m3 m
0.00+0.00+0.00+0.00+0.00+
HREIE 2.0mLLF BH0.28m3 m 2/0.00+0.00+0.00+0.00+0.00+2.00= 2.00
FEHIR 20mELF BH0.45m3 m
E
EIE 25mLUTF AH m
R AIZE 2.5mELF BH0.08m3 m
HREIZE 2.5mE T BHO0.13m3 m
$MAIZE 2.5mELF BH0.28m3 m
FEHIR 25mELF BH0.45m3 m
E
REIE 3.0mLUTF AH m
$HAIZE 3.0mLLF BH0.08m3 m
HREIZE 3.0mL T BHO0.13m3 m
$HAIZE 3.0mLLF BH0.28m3 m
EHIR 3.0mELF BH0.45m3 m
E
HREIE 3.5mLUTF AH m
$HAIZE 3.5mLLF BH0.08m3 m
HREIZE 3.5mL T BHO0.13m3 m
$AAIZE 3.5mLLF BH0.28m3 m
PEHIR 3.8mELF BH0.45m3 m
E
HREIE 3.8mLUTF AR m
$HAIE 3.8mLLF BH0.08m3 m
HREIZE 3.8mL T BHO0.13m3 m
$HAIZE 3.8mLLF BH0.28m3 m
PEHIR 3.8mELF BH0.45m3 m
T /I 16§ m 18/16.16+0.00+0.00+0.00+0.00+2.00= 18.16
288 m
3B m
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NHETKEEETEFEARBEIXZNI) No. 1
% M o) % B # & ] =
E - 28 | ZB, ¢600, T-14 #H 2| EERGIER
ZR, $600, T-25 48 SnTE R A 5%
HMEOT 45 h = 20~45mm {&@ 2
69 h = 46~69mm &
HEYVY |5 ¢ 600 X 50 mm & 1
10 ¢ 600 X 100 mm 1 1
15 ¢ 600 X 150 mm i
# 2 Jovs |30 ¢$600x ¢900 % H300 & 1
45 ¢ 600X ¢ 900 X H450 & 1
60 ¢ 600X% ¢ 900 % H600 &
E & Jovys |30 $900 X H 300 &
60 $900 X H 600 &
90 $900 X H 900 &
120 $900 x H1200 &
150 $900 x H1500 &
¥ & Jovs | 60 $900 x H 600 &
90 $900 x H 900 1 1
120 $900 x H1200 1 1
150 $900 x H1500 &
&

180 $900 x H1800




#0837 1 Bk IERE T 5T R <EE>

NETKEESETERHRELXZDNI) No. 2
£ o) i) % BEfu #% 8 ] =
E iR 7av9 | $1100 x H 130 & 2
il A | VP 75mmHA &R
VU ¢ 250mm A A
VU ¢ 200mmFH A 4| BIFHIFL1EFT
VU ¢ 150mm A i
VU ¢ 100mm A i
TUR—IL#EF | VU@ 250mmMA & Al
VU ¢ 200mm 8 i 6
VU ¢ 150mm 3 i
VU ¢ 100mm A i
E 8 I [1: 42— BEER & P 2
2: RAaE#EOH & PR
3: AVIN—FDH B
wWik—MT'EY) | IVE-ER ~30m il 2
BT
YWih—WE 30~40m 7
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AHTKEESETERHARBEIXZNI) No. 1
£ 5 32 % B #&# & ] 2
E - 2 | ZB, $600, T-14 48 BB RS AL 5E
ZE! $600, T-25 48 Al
HEEa<T |45 h = 20~45mm &
69 h = 46~69mm 18
HEYVYT |5 ¢ 600 X 50 mm &
10 @ 600 X 100 mm &
15 @ 600 X 150 mm &
# B2 Jovy | 30 ¢600x ¢900/600 % H300 &
45 ¢ 600 X ¢ 900/600 X H450 &
60 ¢ 600 X ¢ 900/600 X H600 &
E & Jnvy |30 ¢ 900/600 x H 300 &
60 ¢ 900/600 x H 600 &
90 ¢ 900/600 x H 900 &
¥ & Jovy |60 ¢ 900/600 x H 600 &

90 $900/600 X H 900 &




ARV E TRET R <EE>

NETKEESETERHRELXZDNI) No. 2
£ o) i) % BEfu #% 8 ] =
E iR 7av9 | $1100 x H 130 &
Hil . [ VU@ 300mmFA i
VU ¢ 250mm A A
VU ¢ 200mmFH A 1] BIGHIA 1B
VU ¢ 150mm A i
VU ¢ 100mm A i
TUR—IL#EF | VU@ 250mmMA & Al
VU ¢ 200mm 8 i 1
VU ¢ 150mm 3 i
VU ¢ 100mm A i
E 8 I [1: 42— BEER & P
2: RAaE#EOH & PR
3: AVIN—FDH B
wWik—MT'EY) | IVE-ER ~20m Al
BT
Wih—WE 20~30m 7
YWih—WE 30~40m 7
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B

|

il

i

T-14

-y

1+0=1

T-25

BEa

20~45mm

-y

1+0=1

45~69mm

REYLT

100 mm

150 mm

B OB @ B B

-y

1+0=1

#MEITOvY

H-190

B

-y

1+0=1

EEJOv)

H-200

H-300

-y

1+0=1

H-400

H-500

H-600

H-700

H-800

H-900

H-1000

SR

H-400

i 150mm

H-600

T 150mm

H-400

H200mm

H-600

HZ200mm

e N - - - B - - - N - - A - N - A -
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BAHTREESTEGEHRETREDI) No. 2
C o) % B = i =
E iR 7Av%o | H-100 18 11+0=1
B | VU@ 200mmFH [ExTpil
VU ¢ 150mm B
VU ¢ 100mmF B
TUR—IL#F | VU 200mmFH B
VU ¢ 150mm B
VU ¢ 100mmf B
= & A 11+0=1
wik-N7'nyy  |BRARIVY - FEE-EEE 303 11+0=1
EeaT
BT EE & A 11+0=1
EiR & A 11+0=1
EB#¥A  [RC-40 t=10cm m2 0.3/0.3+0.0=0.3
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B {1

8

e

fhegEZE T1T-14

18

A=

T RAIE R

ERH

Lall=0E

B 15°

BhF 30°

BhmF 45°

HhsF 60°

B 75°

B 90°

B OE B O [ @ B @ |

VU ¢ 300

0.81

BE#F

¢ 150

1EKFeyF

¢ 150

WEXE

¢ 150-300

L e VAl

¢ 150-100

Bk hR—IL

BT

wWik—IEGER - PER)h<2.0m

k=R (R P E M) 2.0=h<3.0m




WMETHELEHE

DHTKEFETERARBTXEDI)

<E#&E>
No. 1

I i ] B By 2 b}
0.00+0.00+0.00+0.00+0.00
Sy T As __ t=15cm m 32 |+32.32+0.00+0.00+0.00+0.00= 32.32
As 15cm<t=30cm m
Co t=15cm m
As t=10cm
S AREER T Ah m’
0.00+0.00+0.00+0.00+0.00
## BHO.13m3 +76.84+0.00+0.00+0.00+0.00
(BH0.08m3%&) +0.00+0.00+0.00+0.00+0.00
m? 77 0.00+0.00+0.00+0.00+0.00= 76.84
## BH0.28m3 m’
i BH0.45m3 m?
As 10ecm<t=15cm
AR m?
## BHO.13m3
(BH0.08m3&)
m2
## BH0.28m3 m’
i BH0.45m3 m?
As 15cm<t=35cm
AR m?
## BHO.13m3
(BH0.08m3&)
m2
## BH0.28m3 m’
i BH0.45m3 m?
Co t=35cm
AR m?
## BHO.13m3
(BH0.08m3&)
m2
## BHO0.28m3 m’
i BH0.45m3 m?




METHERIME <EHE&>
NHETKEFETEGHREIXZNI) No. 2
I & | B B fir 2 &
E AT Al - A
BEMOBET AR m®
0.00+0.00+0.00+0.00+0.00
## BH0.08m3 m® 3|+3.20+0.00+0.00+0.00+0.00= 3.20
## BHO.13m3 m®
## BH0.28m3 m®
i BH0.45m3 m®
B2 IR A - A E
AR m®
## BH0.08m3 m’
## BHO.13m3 m®
## BH0.28m3 m®
i BH0.45m3 m®
s (— %)
g RET t=3cm m?
HiE 0.00+0.00+0.00+0.00+0.00
t=3cm m’ 9|+8.80+0.00+0.00+0.00+0.00= 8.80
REh1
t=0cm m?
REhgk2
t=0cm m?
EAN 0.00+0.00+0.00+0.00+0.00
t=3cm m’ 5|+4.90+0.00+0.00+0.00+0.00= 4.90
s (— %)
sk HigT t=22cm m?
HiE 0.00+0.00+0.00+0.00+0.00
t=11cm m’ 9|+8.80+0.00+0.00+0.00+0.00= 8.80
R 0.00+0.00+0.00+0.00+0.00
t=20cm m’ 30+30.20+0.00+0.00+0.00+0.00= 30.20
EAN 0.00+0.00+0.00+0.00+0.00
t=37cm m’ 5|+4.90+0.00+0.00+0.00+0.00= 4.90
TN E—R
t=5cm m? 14|8.80+4.90= 13.70
HiE 0.00+0.00+0.00+0.00+0.00
FER RET t=4cm m? 30+30.30+0.00+0.00+0.00+0.00= 30.30
EAN 0.00+0.00+0.00+0.00+0.00
t=5cm m’ 27(+26.80+0.00+0.00+0.00+0.00= 26.80
BiEC
t=22cm m?
BiEC
AEH BT t=15cm m?
FANL
t=20cm m?
HiE
t=10cm m?
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¥ 111 SEEE AHTRKEEETERHREIRZOIN<EE> — MHEEERS-4- 13RWHEARIEH,
B - " G B | & EBER .
& =
" ALES a + | g | BF EEE] ® Ei] EWEE_ |ope| = BRER n = . W =
@ ARES) B % | tm | T @ T B [ &E | A | mER | BEA XEBEER | TEpa| m ® eng | mmig| B | ER &8 il _
= o o 5 P el & (8 (8 [ Eif = =S T8 = & MERLMNEEL
5 ARAR Hs= 3 iE Hy= Vi=WskH % | V,=WkH g% % Hy=H VsV, = DEE.
3= = 1=WH x| V= WkH, = R T = - 8 Vi RIEV,-V,+0.9
L Hy e | et t Hoet, w N N w, A=W L t ty # ety | MW Vs | Ve (57:7 (); f Vs
2.
Tl Fafal m m m m m m m m’ m’ m m’ m m m m m*/m m’ m’
55-M2+31.60  |55-M2
55 B o= 15 7.900 | 1.383 | 1.385 1.384| K | 028 1.384 0.60 6.56 0.60 4.74 0416 | BWEL 0.968 0.60 | 0581 4.59 6.56 | 3@EE1
55-M2 53-M1
53 15 BE (ST L) 32.800 | 1.330 | 1.326 1.328| i | 028 1.328 0.60 26.14 0.60 19.68 0416 | ®EL 0.912 0.60 | 0547 17.94 26.14 | @G
55-M2 54-M1+3.32
54 #3715 B A 3320 | 1.365| 1.345 1.355| F4E | 0.28 1.355 | 0.0 270 0.60 1.99 0416 | B+ 0939 | 060 | 0.563 1.87 270 | 3@
18-3-M1 18-3-M2+36.50
18-3 %= B A 36.500 | 1.276 | 1.313 1.295| FiE | 0.28 1295 | 060 28.36 0.60 2190 | 020| 0416 HEL 0679 | 060 | 0407 14.86 2836 | 3B
7-M1+61.40 7-M1+68.40
7 B = B = 7.000 | 1272 | 1.272 1.272| K | 028 1.272 0.60 5.34 0.60 4.20 020| 0416 | &R+ 0.656 0.60 | 0.394 2.76 5.34 | @EHEI
30-M1+9.43 31-M1+51.20
30 B = B = 41.770 | 0792 | 0843 0818| iE | 028 0.818 0.60 20.50 0.60 25.06 0416 | HWEL 0.402 0.60 | 0.241 10.07 2050 | R@EFEE1
98-3-M1+33.75 |98-3-M1+40.66
98-3 B R B = 6.910 | 1313 | 1.311 1.312| K | 028 1.312 0.60 5.44 0.60 4.15 020| 0416 | &R+ 0.696 060 | 0418 2.89 544 | EFE1
93-M2+42.75  |94-M1
94 B A #3715 3450 | 1.806 | 1.783 1.795| +8 | 008 004 | 1755| 085 515| 078 269 019] 0416| HEF 1189 | 085| 1011 3.49 5.15 | 3EZEWS
94-M1 94-M1+5.21
94 #3715 B A 5210 | 1.763 | 1.728 1.746) +8 | 008 004 | 1706 | 085 756 | 078 406 | 019] 0416 | HEF 1140 | 085 | 0969 5.05 756 | 3EZEES
94-M1+5.21 94-M1+11.00
94 B = B = 5790 | 1728 | 1.702 1.715| +8 | 008 005 | 1.665 0.85 8.19 0.78 4.52 045| 0416 | R+ 0.849 085 | 0722 4.18 819 | 3EAE3
94-M1+11.00  |94-M1+12.71
94 B = B = 1710 | 1702 | 1.687 1695| +8 | 008 004 | 1655 0.85 2.41 0.78 1.33 019 | 0416 | &R+ 1.089 0.85 | 0.926 1.58 241 | 3EAES
AR AR
BH - BH
.
0.08 23.31 HEARE 0.08 14.30 23.31
BH BH
= 0.13 BRLE 0.13
5
BRI E m LEemAt m
0.28 95.04 THB: %Rt | 028 54.98 95.04
BH BH
045 045
E 152.360 3 95.04 23.31 94.32 it 69.28 118.35
AR AR
BH = BH
.
0.08 23.31 HEARE 0.08 14.30 23.31
BH BH
= 0.13 BRLE 0.13
|
BRI E o LEemAt o
0.28 95.04 TH: %Rt | 028 54.98 95.04
BH BH
045 045
&&t 152.360 & 95.04 23.31 94.32 it 69.28 118.35
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¥ 211 SEEE AHTRKEEETIERHREIRZNOIN<EE> — MHEEERS-4- 13REWHERIEH,
= EfT A 1 ERER(EEY)
5 m P B e g | 7B | O x|z | 2 x x
= ANES = ME fak=: BN | g H 5 Y Y i B B %
ARES) B ww | 2R I & ES = = # i + &
# A £ FovS (RR) & > b I =2 B = E = = .
E:3 o | =400, e * &
I AFLES aE . # i E
L L L=(L-L,)/40 | Lg=L-L, Ly Ls=L-Lg ty W, Vs Lemls | Vo=Vierls &
Tikf Al m mm m & g m m m m® m m m*/m m m®
55-M2+31.60  |55-M2
55 B o= #8315 7.900 | VU ¢ 200mm | 0.450 1.9 745 | 0525 7.38 | #MiRRLE | 028 0.416 0.60 0.213 7.38 167 | @HE1
55-M2 53-M1
53 #3715 8E (ST L) 32.800 | VU$200mm | 0.740 1 8.0 3206 | 0815 31.99 | #siskB+ | 028 0416 |  0.60 0213 31.99 6.81 | 3@
55-M2 54-M1+3.32
54 #8315 B R 3.320 [ VU$200mm | 0.450 0.7 287 | 0525 280 | #MiRRLE | 028 0.416 0.60 0.213 2.80 0.60 | 3EEH1
18-3-M1 18-3-M2+36.50
18-3 %= B oA 36.500 | VU $200mm | 0.150 1 9.1 36.35 | 0210 36.29 | sk BE | 028 0416 | 060 0213 36.29 773 | ZEFEI
7-M1+61.40 7-M1+68.40
7 b b= 7.000 | VU ¢ 200mm 1.8 7.00 7.00 | #saREt | 028 0416 |  0.60 0213 7.00 149 | ZBSFE1
30-M1+9.43 31-M1+51.20
30 B B o 41.770 | VU ¢ 200mm 104 41.77 41.77 | M¥iREL | 028 0416 |  0.60 0213 41.77 8.90 | @I
98-3-M1+33.75 |98-3-M1+40.66
98-3 B R B o= 6.910 | VU ¢ 200mm 1.7 6.91 6.91 | #MRRL | 028 0416 0.60 0.213 6.91 147 | Z@HE1
93-M2+42.75  |94-M1
94 B o= #H311%5 3.450 | VU ¢ 200mm | 0.450 08 300 | 0525 293 | MMRRL | 008 0.416 0.85 0.317 2.93 093 | 3EFAE3
94-M1 94-M1+5.21
94 #3115 B R 5.210 | VU$200mm | 0.450 1.2 4.76 | 0525 469 | MMRRL | 008 0.416 0.85 0.317 4.69 149 | F@HFG3
94-M1+5.21 94-M1+11.00
94 B A b= 5.790 | VU ¢ 200mm 14 579 579 | #iaREt | 008 0416 | 085 0317 579 184 | ZBFHI
94-M1+11.00  |94-M1+12.71
94 B A b= 1.710 | VU ¢ 200mm 04 1.71 171 | #sigEt | 008 0416 | 085 0317 1.71 054 | ZEFEHS
VU ¢ 200mm 152.360 2 374 | 149.670 AN
- BH
BEARE 008 1512 480
BH
AfELE 0.13
LEBR-HRE BH
T #HsEL| 028 134.14 28.57
BH
045
§ Bt 152.360 374 | 149.670 149.26 1 149.26 3337
VU ¢ 200mm 152.360 2 374 | 149.670 AN
- BH
BEARE 008 1512 480
BH
ApELE 0.13
LR RERT BH
TE-#HsEL| 028 134.14 28.57
BH
045
S5 Bt 152.360 374 | 149.670 149.26 1 149.26 3337




ERIEOHI HEHHEE

¥ 31 SEHEE AXTARKELEETEHHAREIRZOI<EE> — MAFHEERES-4- 13REHEIR T,
E ) AR ERLED
X EHIZE = FAREA-51HRT BEEEIAET BiA-B1HRT
= AAES o] " " b (LB AR B XRBE T BAID RS M 5 2K STV R B 7 H8) %
@ (HRES) i Hi Hl L=2.0m L=2.5m L=3.0m L=3.5m L=4.0m Zx=120cm™™ L=40m [ L=45m | L=50m b
= Bt P = s 18 18 268 268 268 268 268 268 3E% 18 268 268 3E% BHO.45 & 1
= AFLAESI TR | LR e & 150 1.80 2.00 2.30 2.50 2.80 3.00 3.30 3.50 150 200 250 350 3.80 400 450 #
L H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= R
1.50 1.80 2.00 230 250 2.80 3.00 330 3.50 3.80 2.00 250 3.50 3.80 4.00 450 5.00
TRl L3R m m m m m m m m m m m m m m m m m m m m m
55-M2+31.60  |55-M2
55 b/ #3115 7.900 | 1.383 | 1.385 1.384| 060 | 028 7.90 RimEE
55-M2 53-M1
53 #3115 BE (ST L) 32.800 | 1.330 | 1.326 1.328| 060 | 028 32.80 RimaEE
55-M2 54-M1+3.32
54 #3115 b: = 3.320 | 1.365 | 1.345 1.355| 060 | 0.28 3.32 RimEE
18-3-M1 18-3-M2+36.50
18-3 P\ ) b/ 36.500 | 1.276 | 1.313 1.295| 060 | 028 36.50 RimEE1
7-M1+61.40 7-M1+68.40
7 b: b/ 7.000 | 1272 | 1.272 1.272| 060 | 028 7.00 RimEE
30-M1+9.43 31-M1+51.20
30 p: /I~ b: = 41.770 | 0.792 | 0.843 0.818| 060 | 0.28 41.77 RimEE
98-3-M1+33.75 |98-3-M1+40.66
98-3 b: [~ p: /S 6.910 | 1.313 | 1.311 1.312| 060 | 028 6.91 RimaEE
93-M2+42.75  |94-M1
94 p: /S #3155 3.450 | 1.806 | 1.783 1.795| 0.85| 008 3.45 3.45 RiBEEE3
94-M1 94-M1+5.21
94 #3115 b: [~ 5210 | 1.763 | 1.728 1.746| 0.85| 008 5.21 5.21 RiEEEE3
94-M1+5.21 94-M1+11.00
94 b: [~ b/ 5790 | 1.728 | 1.702 1.715| 0.85| 008 5.79 5.79 RiEEEE3
94-M1+11.00  |94-M1+12.71
94 b: [~ b/ 1710 | 1.702 | 1.687 1.695| 0.85| 008 1.71 1.71 RiEEEE3
Ah
BH
0.08 16.16 16.16
BH
= 0.13
HERRE BH
028 136.20
BH
045
£ 152.360 it 136.20 16.16 16.16
Ah
BH
0.08 16.16 16.16
BH
= 0.13
HERRE BH
028 136.20
BH
045
&t 152.360 it 136.20 16.16 16.16
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IE4 AETFTKEEFETE BRHRBEIRZN3I) <EE>
MH P H = i A = &l = A E | AE Javyv by E MH & & T|
MHZ | #higs i i B|EE| v |FABYY | & B B B 55 2.3 E Bl 7 B 1= |5t | BX
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